Don‘:r use
‘ DB-Killer EVO N°52
! Co0d.308421801

Factory S CARBON
silencer SX Ji 54
Co0d.308420482

@92R-O1 10395

Knurled collar nut M§
Cod.200333

2 Allen screw
Factory S CARBON
silencer DX @i 54 M8X65 T.C.Z.B.
Cod.308420481 Cod.201222
' ? Carbon bracket FR3
Co0d.308444501

2 Aluminium brackef
Co0d.3014146501

2 Aluminium M
0 spacer 5
Cod. 205866 _
o ' @?3»‘
\Q
- Knurled collar
nut M8
Co0d.200298
Q)O @ \\
© \ 2 Aluminium spacer
TS -for allen screw M8-
5 C0d.200298
2 Allen screw W
M6X25 T7.C.Z.B. B , Pipe N°T091 ) 9
Cod.200586 W) K Cod.3014146202

2 Aluminium spacer
~for allen screw M6-
Cod.205767

4 Short helical spring
tensile
Co0d.206003

4 Short fube in
silicon rubber
Cod.205961

Pipe N°1090
Cod.3014146201

Mounting plate M6
Cod.204664

Art. 14224S

KAWASAKI Z1000/Z1000SX/NINJA1000/ABS (US only)
(Fits with original panniers)

SLIP-ON - Factory S -Carbon-Approved



